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Alexandria University Transportation Department

Faculty of Engineering __Highway. rngmeermg CE- 156+
Table 4: Minimum value for Stopping Sight Distatice (S) - o
V (Km/hr) 50 ~ 65 80 95 - 105 110 120 .
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Table 5: Minimum value for Passing Sight Distance (S,

. Number of lanes 2-lane 3-lane
~_V(Km/hr.) 50 65 30 95 110 30 95 110 - |
» S, (m) 245 - 385 510 620 700 . 360 440 500
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~edy,  Choose the comrect answer according to the given road profile in Figure (1) forthe next 8 questions
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’ 61.The station of pomt (EVC?) iss

A. 50 km/hr __ B, 6Skmmr __C. 80km/hr D, 95 kmhir -
64.1f the K-value is 20 for the sag curve, the. lengths LV1 should be. m. i
__A 50 B 70 C. 125 D. 175
65.1f the kngth LV1=1LV2=120'm, the station of PVT1 is
, A (6+45) ._B. (685 . -C. (7+45) __D. -(10+40)
Page5of 6 : ' o=

56.:The superelvation required in horizontal alignment is equal to , where « is the angle of eross section ‘
A, Cose B. Seca C. Sina D. Tan ¢ .

57.A road-is being redesigned to accommodate a 80 km/hr design speed. Part of this road has an existing curve with a
degree 9° and zero superelevation. If the existing curve radius is kept unchanged, what supe relevation is required for the
curve 1o accommodate a 80 km/h design speed (use 5=0.17) , ,

A 1% B. 8% . ot D, 10%

-58.1nthe previous:problem; if the lane width is 3-m, how far back from the edge of the road-a building must-be located to - o

allow adequate sight distance for a 80 kmvhr design speed?
A. 5m B. 6m C. 5.5m D. 7m

59.Fora 2-lane road 3.75m lane width with 8° curve degree and 5% longitudinal slope, if the design speed is 80:km/hr,

then'the total superelevation (S) is
A O 68 m . B. 0.701m C. 075 D. 008m

60.For the previous question, if 2 transition curve (A 200) is to be used to. mplement achange in cross-sectmn froma
normally crowned section to a fully superélevated section around the outer edge. What is the suitable tranisition curve

length?
A, 50m B. 82m C. 34m : - D. 18m

—f
4

[Trn

19 . . %
Toration 12425y i

) .A,Eleva'!ion;:-'{G.S ’

) Figu‘re;(l),'Réhd.?mﬁl‘e ‘(Multialane) (Not to scale).

A, (10+75) __B. (10185 C _(13+65) D. (11+60)

62.The elevation of point (EVC2) is: ,
A 98 B. 95 , C. 112 S L T

63.1f the K=value is 55 for the crest surve, what-would be:the safeoperating speed that should be maintained along this
curve?

(2.\)' o _




Alexandria University
Faculty of Engineering

UL | PV P
It vl A%

Civil Engineering Department s Aisall Luxigh o3
lanuary 2019 s ol
Highway Engineering CE454 CE454 Gkl Lo
Fourth Year Civil Engineering @'M gy AL
Time Allowed: 3 hours Slele u‘—*u‘f‘ 52a
66.1f the length LV = LV2= 120 m, theelevation of PVT1 is
A 2.2 B. 4 C. 25 D. 4.3
67.1f the length LV1 = LV2= 120 m, the-elevation of lowest point is
A, 621 B. 3.95 C. 3381 D. 361
681 the length LV = LV2= 120 m, the elevation at station (10 00) equal to”
A 80 B. 8.77 C. 9.52 D, 2.8
' 69. The extra width of ;;avement is provided on
A. Borizonial curve B. Bridges C. Vertical curve B. None
70.The design speed on a rotary intersection is 45 km/hour, if the minimum radius is -
A, 525m B. 63m C. 90m D, l4m
71.In-at grade erossropd-intersection thetotal. number of conﬂxct pomta is:
A3 B. 8§ O C 3R , D. none
72, Which of the following at grade inté’tﬁéelions;‘iscngt siitable for pedestrians?
A. Channelized B Non-flared C. Rotary D. Fullcloverleafl
73. intersectionis suitable-for locations where the volume of left furntraffic is. reidnvely fow  _ —
A. Rotary B. Diamond- C. Trumpet D. Full clover leaf—
74. ramp-is suitable for locations where the volume of left turn trafficis- relatively high
A. Direct B Semi-direct —Cr Indtrect . D._ None

75.The capacity of rotary in vehicle per hour fora . proportion of weaving traffic 0.5 and the w:dth of \Ntﬂ\’ldé semon is

9.0m, -average width of eniry-is 3. .Onr and lengih of the weaving section is 30m - - . -

A, 1088

B, 2153.-- .’ C. 2302 77 v - pLo2500 ¢

Best of Luck,,,,,,,

Useful Fermulae‘:’,
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